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BRAINWARE UNIVERSITY

~ Term End Examination 2022
Programme — B.S¢.(8T)-Hons-2018/8.5¢.{BT)-Hons-2020/8.5c.(BT)-Hons-2021
Course Name - General Chemistry
Course Code - BBT303/B8TC303
{ Semester il |

Full Marks: 70 i Time : 3:0 Howrd
[The figure in the margin indicates full marks. Candidates are required o glve thelr answers in thelr own words g5 far as practicable.

Group-A
[Muftiple Choboe Type Clueanon) Lx1%=15
L Choose the corhect alternativs from the foliowing -

il Which of the follow g terms best deserilves fhe following pair of mplecules?

¥\=,/—/\f/”\/\

a) Womers b} Configurational Kormars

¢} Constitietional isemers d} Geometrizal bomers
i} Amokeculs is called ant! aromatic Il it containg

B Mn=2ln-electrons b) Inn eleckrons

€] (2n+2jn electrons d) 4nn electrons
fiii} The number of principles of green chamistry is

B2 b &

] 10 d) 12

(i) - Let there be four groups . COOH, 1 H and CONH; attachied to the chiral carbon | which vne will have
highist pricrity sequence

&) D b) CONHI
el H d} COOHM
[wl  Which one of the folliowing Is @ groen salvent
ap Ettwl lactate bl Benmene
¢k Carbon tetrachlomde d} Tolumne
ivl) Thi shape of NHy molecule is
@) linear by pyramidal
ch bent d} tetrahedral
Wi Bond order of Lis is
L bl 05
ok 1.5 dj o

{wik) Wt |8 the effect of the aptical angle of rotation (o] if 1ength of polarimeter fube |5 halved and the concentraton of
thie motetule is doubled

a) nremains same b) o gets halved
¢} gets four times d] o eight rimes
[im} Optically acthve molecules which rotats plane-polarized light in & counterchockwize direction are said to be
a} |evocotary b} R configurstion
ch -dextrorotainy d) 5 configuration
(2} Greater the number of resonating structures for @ given intermadiate,
a) ledd will be the stability b] more will be the stability
c} it will not accept the stability d] same will be the stability
(el)  WWhich of the fallowing is an lpprl:lﬁmufmﬁ_nmeﬂc effect?
a}) dipole moment b strength of acid and bases
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Whai re green solvents? Ciive some examples. [3+2] 154
13, \What do you mesn by atom economy? Ethane reacts with chiorine molecule tn form cthyl chionide. Caltilate the stom sconomy. [2+3] (5]
| OR
What 15 super eritical water and whil is its appil ication 15}
14 [5)
What type of a molecule is the structure given above? Explain.
on

Cuileulate the lattice enengy of NalCl crystal from the following dufi by suing Born- Haber Cycle! =

for Na (£), Alisib = 108,7 klimel, bond dissociation energy for Cly = 225.2 klémol, 15t sonization energy for Na = 4495 ki'nwl, Ist
electron gain enthalpy for €1 = -351.4 ki/mel, Enthalpy of formation (AH) =—414.2 klimal
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